
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Monday, 9/23-Q
Conditional probability, continued .

The multiplication rule
P(A

, A2) = P(A , )P(AzlAg)
generalizes as follows :

P)A
, AzAz ... An

= P(A , )P(AzIAg) P(Az1A , A2) P(Axl AgAzAzloo
· P(An)A , AzAz -. An) .

Generalized Multiplication Rule

Example1 .

· uponplayersand te playear ers
are randomly paired for the first round.
Find Plno tennis player pairs with a tennis
player).

Solution
Number the tennis players 1

,
2. 3,6 .

Define

Ai : player i is pared with a ping-pong
player. We're looking for

PCA ,AzAs Ad .
Now

P(Ag) = 7
,

PLAzIAg) = /
P(AzIAD2) = /3, PlAyIA ,AzAs) = S

So

P(A ,AzAzAr) = #... 3 = 0
. 22857.
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